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1. Figure Q2

c) shows the voltages and currents for an N PN tr ﬁ '
Emitter confi g ration where the e

to show it is an internal parameter. Show
isrm=0re w%z eif s the Common-Er

he output resistance is v

i, Given that
t cireuit of the transi

o/ B where 1. is given by b) ii), draw the AC
equivalen

tor in Common-Emitter configuration.

93]

iii. Give the DC circuit and its AT equivalent for an NPN Common-Emitter amplifier

that has a voltage source vs, and show that the voltage gain and the current gain for
the amplifier is given by Ay = - Re/re and A; =  respectively.

iv. Why is the Common-Emitter amplifier a bette

i3l ¥ er voltage amplifier than the Common-
Base amplifier?
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